Far East Journal of Applied Mathematics

Volume 42, Number 2, 2010, Pages 159-164

Published Online: August 12, 2010

This paper is available online at http://pphmj.com/journals/fjam.htm

© 2010 Pushpa Publishing House

AN INEQUALITY AND ITS APPLICATIONS

HONGSHUN RUAN and QIANG WANG

Department of Applied Mathematics Changzhou University Changzhou City 213164, Jiangsu Province, P. R. China

e-mail: rhs@cczu.edu.cn; wangqiang@cczu.edu.cn

Abstract

In this paper, we derive an inequality for the coefficient of z^n in $_{r+1}\phi_r$ basic hypergeometric series. We use the inequality obtained in this paper to give a sufficient condition for the convergence of a bibasic series.

1. Introduction

q-series, which is also called *basic hypergeometric series*, plays a very important role in many fields, such as affine root systems, Lie algebras and groups, number theory, orthogonal polynomials and physics, etc. Inequality technique is one of the useful tools in the study of special functions. There are many papers about it (see [1, 2, 4, 5, 6, 7]). In [7], the authors gave some inequalities for certain bibasic sums. In this paper, we give a new inequality about q-series. First, we recall some definitions, notations and known results which will be used in this paper. Throughout this paper, it is supposed that 0 < q < 1. The q-shifted factorials are defined as

$$(a; q)_0 = 1$$
, $(a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k)$, $n = 1, 2, ..., (a; q)_\infty = \prod_{k=0}^\infty (1 - aq^k)$. (1.1)

2010 Mathematics Subject Classification: Primary 26D15; Secondary 33D15.

Keywords and phrases: inequality, the basic hypergeometric function, the Fubini's theorem, convergence.

Supported by MPF of Changzhou University.

Received March 6, 2010; Revised April 16, 2010

We also adopt the following compact notation for multiple q-shifted factorial:

$$(a_1, a_2, ..., a_m; q)_n = (a_1; q)_n (a_2; q)_n \cdots (a_m; q)_n,$$
 (1.2)

where *n* is an integer or ∞ .

The Fubini's theorem. Suppose that f_{ij} is absolutely summable, that is,

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} |f_{ij}| < \infty,$$

then

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} f_{ij} = \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} f_{ij}.$$
 (1.3)

In [1], the basic hypergeometric series $_{r+1}\phi_r$, is introduced as follows:

$${}_{r+1}\phi_r(a_1, a_2, ..., a_{r+1}; b_1, b_2, ..., b_r; q, z) = \sum_{k=0}^{\infty} \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(q, b_1, b_2, ..., b_r; q)_k} z^k.$$
(1.4)

2. Main Result and its Proof

We know that, estimating the value of

$$\left| \frac{(a_1, a_2, ..., a_r; q)_n}{(b_1, b_2, ..., b_r; q)_n} \right|$$
 (2.1)

is an important problem in the study of q-series. In this section, we want to derive an upper bound of (2.1). In order to prove the main result, we need to introduce following lemma.

Lemma 2.1. Let a and b be given complex numbers, satisfying $b \neq \overline{b}$ or b < 1. Then, for $0 \le x \le 1$, we have

$$\left| \frac{1 - ax}{1 - bx} \right| \le e^{Mx},\tag{2.2}$$

where

$$M = \begin{cases} \alpha + |a| + |b|, & \overline{b} \neq b, \\ |a| + \frac{|b|}{1 - b}, & b < 1, \end{cases} \quad \alpha = \frac{|b|^2}{|\operatorname{Im}(b)|}.$$

Proof. (i) When $b \neq \overline{b}$, let

$$f(x) = (1 - bx)(1 - \overline{b}x)e^{\alpha x}.$$

Since

$$\Delta = (2|b|^2 - \alpha(b+\overline{b}))^2 - 4\alpha|b|^2(\alpha - (b+\overline{b}))$$

$$= 4|b|^4 + \alpha^2(b+\overline{b})^2 - 4\alpha^2|b|^2$$

$$= 4|b|^4 + \alpha^2(b-\overline{b})^2 = 0,$$

hence

$$f'(x) = [\alpha |b|^2 x^2 + (2|b|^2 - \alpha(b + \overline{b}))x + \alpha - (b + \overline{b})]e^{\alpha x} \ge 0.$$

So f(x) is monotonous increasing function with respect to $0 \le x \le 1$ and

$$f(x) \ge 1,\tag{2.3}$$

(2.3) is equivalent to

$$\frac{1}{(1-bx)(1-\overline{b}x)} \le e^{\alpha x}. (2.4)$$

Using (2.4), we have

$$\left| \frac{1 - ax}{1 - bx} \right| = \left| \frac{(1 - ax)(1 - \overline{b}x)}{(1 - bx)(1 - \overline{b}x)} \right| \le \frac{(1 + |a|x)(1 + |\overline{b}|x)}{(1 - bx)(1 - \overline{b}x)} \le e^{(\alpha + |a| + |b|)x}. \tag{2.5}$$

(ii) When b < 1, for $0 \le x \le 1$, we have

$$\frac{1}{1-bx} \le e^{\frac{b}{1-b}x}. (2.6)$$

Using (2.6), we have

$$\left| \frac{1 - ax}{1 - bx} \right| \le \frac{1 + |a|x}{1 - bx} \le e^{\left(|a| + \frac{b}{1 - b} \right)x} \le e^{\left(|a| + \frac{|b|}{1 - b} \right)x}. \tag{2.7}$$

Together with (2.5) and (2.7), (2.2) follows.

Theorem 2.2. Let a_i and b_i be some complex numbers, satisfying $b_i \neq \overline{b_i}$ or $b_i < 1$ with i = 1, 2, ..., r. Then, for all nonnegative integer n, we have

$$\left| \frac{(a_1, a_2, ..., a_r; q)_n}{(b_1, b_2, ..., b_r; q)_n} \right| \le e^{\frac{1}{1-q} \sum_{i=1}^r M_i}, \tag{2.8}$$

where

$$M_{i} = \begin{cases} \alpha_{i} + \left| a_{i} \right| + \left| b_{i} \right|, & \overline{b}_{i} \neq b_{i}, \\ \left| a_{i} \right| + \frac{\left| b_{i} \right|}{1 - b_{i}}, & b_{i} < 1, \end{cases} \quad \alpha_{i} = \frac{\left| b_{i} \right|^{2}}{\left| \operatorname{Im}(b_{i}) \right|}.$$

Proof. When n = 0, it is obvious that (2.8) holds; when $n \ge 1$, for $0 \le x \le 1$ and $1 \le i \le r$, by Lemma 2.1, we have

$$\left| \frac{1 - a_i q^k}{1 - b_i q^k} \right| \le e^{M_i q^k}, \quad (k = 0, 1, 2, ...).$$

Consequently,

$$\left| \frac{(a_i; q)_n}{(b_i; q)_n} \right| \le e^{M_i (1 + q + \dots + q^{n-1})} \le e^{\frac{1}{1 - q} M_i}, \quad (i = 1, 2, \dots, r).$$

Thus, (2.8) follows.

3. Some Applications of the Inequality

Convergence is an important problem in the study of q-series. In this section, we use the inequality obtained in this paper to give a sufficient condition for the convergence of a bibasic series.

Theorem 3.1. Let z, a_i , b_j be some complex numbers, satisfying |z| < 1, $b_j \neq \overline{b}_j$ or $b_j < 1$ with i = 1, 2, ..., r, j = 1, 2, ..., s. Let $\{c_n\}$ be a complex sequence satisfying

$$\sum_{n=0}^{\infty} |c_n| < \infty.$$

Then, the series

$$\sum_{n=0}^{\infty} c_n \sum_{k=0}^{n} \frac{(a_1, a_2, ..., a_r; q)_k}{(b_1, b_2, ..., b_s; q)_k} z^k$$
(3.1)

is absolutely convergent.

Proof. Not losing generality, suppose s < r. By (2.8), we have

$$\sum_{n=0}^{\infty} |c_{n}| \sum_{k=0}^{n} \left| \frac{(a_{1}, a_{2}, ..., a_{r}; q)_{k}}{(b_{1}, b_{2}, ..., b_{s}; q)_{k}} \right| |z|^{k}$$

$$\leq e^{\frac{1}{1-q} \sum_{i=1}^{r} M_{i}} \sum_{n=0}^{\infty} |c_{n}| \sum_{k=0}^{n} |z|^{k}$$

$$\leq \frac{1}{1-|z|} e^{\frac{1}{1-q} \sum_{i=1}^{r} M_{i}} \sum_{n=0}^{\infty} |c_{n}| < \infty, \tag{3.2}$$

where $b_i = 0$ in M_i , when i > s. Thus, the series (3.1) is absolutely convergent. \square

Theorem 3.2. Let z, a_i , b_j be some complex numbers, satisfying |z| < 1, $b_j \neq \overline{b}_j$ or $b_j < 1$ with i = 1, 2, ..., r + 1, j = 1, 2, ..., r. Then, the series

$$\sum_{n=1}^{\infty} \frac{1}{n(n+1)} \sum_{k=1}^{n} k \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k$$
(3.3)

is absolutely convergent and

$$1 + \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \sum_{k=1}^{n} k \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k$$

$$= {}_{r+1} \phi_r(a_1, a_2, ..., a_{r+1}; b_1, b_2, ..., b_r; q, z).$$
(3.4)

Proof. By (2.8), we have

$$\sum_{n=1}^{\infty} \frac{1}{n(n+1)} \sum_{k=1}^{n} k \left| \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k \right|$$

$$\leq e^{\frac{1}{1-q} \sum_{i=1}^{r+1} M_i} \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \sum_{k=1}^{n} k |z|^k$$

$$\leq e^{\frac{1}{1-q} \sum_{i=1}^{r+1} M_i} \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \cdot \frac{|z|}{(1-|z|)^2} < \infty, \tag{3.5}$$

where $b_{r+1} = q$, in M_{r+1} , M_i is defined as before (i = 1, ..., r + 1).

From (3.5), we know that, the series in (3.3) is absolutely convergent and by (1.3), we have

$$1 + \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \sum_{k=1}^{n} k \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k$$

$$= 1 + \sum_{k=1}^{\infty} k \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k \sum_{n=k}^{\infty} \frac{1}{n(n+1)}$$

$$= 1 + \sum_{k=1}^{\infty} \frac{(a_1, a_2, ..., a_{r+1}; q)_k}{(b_1, b_2, ..., b_r, q; q)_k} z^k.$$
(3.6)

Together with (1.4) and (3.6), (3.4) follows.

References

- G. D. Anderson, R. W. Barnard, K. C. Richards, M. K. Vamanamurthy and M. Vuorinen, Inequalities for zero-balanced hypergeometric functions, Trans. Amer. Math. Soc. 347(5) (1995), 1713-1723.
- [2] G. Gasper and M. Rahman, Basic Hypergeometric Series, Cambridge Univ. Press, Cambridge, MA, 1990.
- [3] Hongshun Ruan, An interchangeable theorem of q-integral, J. Inequal. Appl., Vol. (2009), Article ID 135693, 8 pp.
- [4] Mingjin Wang, An inequality for $_{r+1}\phi_r$ and its applications, J. Math. Inequalities 1 (2007), 339-345.
- [5] Mingjin Wang, Two inequalities for $_r\phi_r$ and applications, J. Inequal. Appl., Vol. (2008), article ID 471527, 6 pp.
- [6] Mingjin Wang and Hongshun Ruan, An inequality about $_3\phi_2$ and its applications, J. Inequal. Pure Appl. Math. 9(2) (2008), 6 pp.
- [7] Mingjin Wang and Hongshun Ruan, A bound for bibasic sums and applications, J. Inequal. Pure Appl. Math. 10(2) (2008), 5 pp.